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4661 |[/\vHRmH ZX225USRTN-Z |[ILFEERE 0.8 m3 FER= 0.58 m3 | B I EREGE)
4662 |/\yHiR™D ZX225USRLCTN-Z| ILFER & 0.8 m3 FER= 0.58 m3 | B I EREGE)
4663 |[/\vHRmH ZX480LCK-3 IR = 2.1 m3 FER= 15 m3 | B E#GR)
4664 |7—RA—H— SPD03-3 A—HH 5 10 KW YEHIZ 318.5 mm | B 3L EHE(E)
4665 |[yO—S5—4HL—2 TX40UR-3 fm_EREN 29 t 5 X 14 m | B3I E#GER)
4666 |rFovoHL—2 KA-4000R m_ERES 400 t R X 25 m R INEERRAERR
4667 |HEIFETEH SDG300S-7B1 ERB=E 300 kVA Jb#E T ZEGE)
4668 |FHEIFTEH HP2600SV ERBE=E 2.6 kVA Jb#E T ZEGR)
4669 |HEIFTEH DGM450MK-P EXB=E 45 KVA (BR)XPFEUVC
4670 /N7 PC30UU-5N1 LWER = 009 m3 FHEAR=E 0.07 m3 |aAV1—T4")T1#k)
4671  |/\y9R™D PC220-10 WiES = 1.0 m3 FER= 0.76 m3 |(R)/ NS VERR
4672 |1\ PC220LC-10 iR = 1.0 m3 FER=S 0.76 m3 |(R)/ NS VERR
4673 |1\ PC230-10 WiES = 1.0 m3 FER=S 0.76 m3 |(R)/ NS VERR
4674 |/\vHRD PC230LC-10 iR = 1.0 m3 FER= 0.76 m3 |(R)/ NS VERR
4675 |1\ PC300-10 WESE 1.4 m3 FER= 1 m3 |(BR)/ N ERR
4676 |/\voRmH PC300LC-10 LR = 1.4 m3 FER= 1 m3 |(BR)/ N ERT
4677 /Ny PC350-10 WESE 1.4 m3 FER= 1 m3 |(BR)/ N ERR
4678 |1\ PC350LC-10 LR = 1.4 m3 FER= 1 m3 |(BR)/ N ERT
4679 |[/\vRmH PC400-10 WiES = 1.9 m3 FER= 1.4 m3 |(R)/NABYERRT
4680 |/\yHiR™D PC400LC-10 iR = 1.9 m3 FER= 1.4 m3 |(R)/NABYERRT
4681 |[/\vHRmH PC450-10 WiES = 1.9 m3 FER=S 1.4 m3 |(R)/NABYERRT
4682 |[/\vHkmH PC450LC-10 iR = 1.9 m3 FER=S 1.4 m3 |(R)/NABYERRT
4683 |ZER Tk EC15SSB-7 HtH=E 1.56 m3/min  HHE 0.69 MPa |(#k)/IMRS4ERT
4684 |ZER T HERE EC20SSB-7 HtH=E 2.0 m3/min  HHE 0.69 MPa |(#k)/IMRSE4ERT
4685 |FHENFKERE EG13BS-7 EXB=E 13 kVA (BR) /A BMERR
4686 |FENFKERE EG15BS-7 ERB=E 15 kVA (BR) /A BMERR
4687 |FHENFKERE EG25BS-5 EXB=E 25 kVA (BR) /A BMERR
4688 |FHENFKEHE KW300D EHRE=E 11.4 KVA BiEREH 8.74 KW |(BR)/NRBLERT
4689 |HIEHIT AZI ik 'i?ffggf‘zgfgl EAS 800 kN Bl 900 kN |()a—7>
4690 |FRI7ILLT4=w ¥— |HTP4OW ERE 1.7~4.1 m £ RER (¥R
4691 |FRI7ILLT4=w — |HAS0W-7 ERE 23~50 m £ RER (¥R
4692 |HO—>5—4HL—> 6000SLX-C3 L EES 500 t X 6 m |BIfEREEBEEIL— ()
4693 [MEXMEAZURM | ool A 3000 kN BlEA 3100 KN |BOHBRRER
4694 |IREIOD—5— SV900D-1 HmiLE= 19.45 t SEFE T EFR)
4695 |IREIO—5— SV900DV-1 HmitE= 1995 t SEHET EGHE)
4696 |IRENIO—5— TW502S-1 BEmitES 3.54 t SEHET EGHE)
4697 |/\yHR™D 305DCR-AC WiER = 0.16 m3 FER= 0.11 m3 | F ¥ RET—T /N (FE)
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4698 |/\yHiR™D 305.5DCR-AC IR = 0.16 m3 FER= 0.11 m3 | F ¥ RET—T /N (FE) 1K
4699 |kSHR—anN)L 924H-C1 LWER = 1.9 m3 FER= 1.6 m3 | F¥RES—T /() T
4700 |rS5HR—anN)L 924Hz-C1 LWER = 1.9 m3 FER= 1.6 m3 | F¥RES—T v/ \(RR) 1K
4701  |/\yHiR™D 020CR WER = 0.066 m3 FER= 0.049 m3 | F ¥ RET—T /N (FE) i
4702 |[/XwHR™Y 020SR WiER = 0.06 m3 FER= 0.041 m3 | F ¥ RET—T /N (FE) ]
4703 |7—RA—H— MD-200 A—HHH 45 KW YR HI% 1200 mm | (¥) T—3— K
4704 | 7—RA—H— MD-250 A—HHED 89 KW HEEIE 1200 mm |[(¥fR) T—a— I
4705 |bovoHL—o LTM1065NX—2 m EBEN 65 t R X 2.1 m ()=~ (3k) i
4706 |HBIFEEH DCA-25USI3 ERB=E 25 kKVA T > 3—(¥k) i
4707 |HEIFEH DCA-220LSI EXBE=E 220 kKVA T > 3—(¥k) i
4708 |7—RA—H— ECO-JR1 A—HH N 3.7 KW EHIZ 200 mm | (3R) REFRA—1) 45 i
4709 |7—RA—H— SP-50B A—HHA 11 KW REIE 200 mm | (BR) REFBAR—1) 5 1K
4710 |7—RA—H— GT3-1000 A—HH 5 11 KW YEHIZ 400 mm | (3R) REFBEAR—1) Y5 i




